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var
a,b,c,d:integer;
begin
read(a,b);
if a+b>25 then
a:=a->5
else
b:=b+5;
c:=b-a;
d:=a*b;
writeln(d-c);
end.
fIAN: 10 20
BATHRON:

§§2Eﬂz
var
x,k,n,i:longint;
ararray[1l..100] of longint;
begin
read (x, k) ;
n:=0;

while x>0 do

begin
n:=n+1;
aln]:=x mod k;

x:=x div k;
end;
for i:=n downto 1 do
write(a[i]);
writeln;
end.
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var

n,m:longint;

function f(n,m:longint) :longint;

begin
if m<=1 then exit (n+m);
if n>=m then f:=f(n-m+1,m)*2
else f:=f(m,n)*3;
end;
begin
read(n,m) ;

writeln (f(n,m));

end.
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var

n,m,1i,j:longint;
a,brarray[1..100] of longint;
tmp:boolean;
begin
readln(n,m) ;
for i:=1 to n do
read(al[i]);
for i:=1 to m do
read(b[i]);
for i:=1 to n-m+l do
begin
tmp:=true;
for j:=1 to m do
if al[i+3-11<>b[j] then
tmp:=false;
if tmp=true then
writeln (i) ;
end;
end.
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var
a,b,c,d,i,j:longint;
begin
read(a,b,c);
for i:=a downto 1 do
if (@ ) and (b mod i=0) then
begin
d:=a div 1i*b;
for j:=c downto 1 do
if (c mod j=0) and (@ ) then
begin
writeln( ® );
@ ;
end;
break;
end;

end.
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var
k,i:longint;
ararray[l..100] of longint;

function check(x:longint) :boolean;

var
n,i:longint; // n FRICSR x B k 2 S A3
bo:boolean;

begin
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/7R x BB k A HIE AR a
n:=0;
while x>0 do
begin
O
aln]:=x mod k;
x:=x div k;
end;
/] FIWHERETE a Y k #HIEUE AR5
@ ;
for i:=1 to n div 2 do

if a[i]<> ® then

begin
bo:=false;
break;
end;
check:= @ ;
end;
begin
read (k) ;

for i:=1 to 1000 do

if check(i) and check( ® ) then
writeln ( C) ) ;
end.
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